2l
=

ZHolA =

1dt

St 20224 8
X

2

[ o
IE%OLI-TI'

AN

o
et &g =l s L

o

=

?.

=

L|Ch 2 Z™E2 DT 20227} €&

| 2E QI *mit.sprache.teil.haben

19

=

.

HIALIOIM & M172 =M =2 nFACH2|(DT 2022)8 &+ =4
2

2

11+1 7}X|

=0
x

k

(=
=

.
S
[=13

OftH

MY EHo Z2tE 9

i

Al

ol

4
E

ol

[
)

K4
Kir

i

3
o A

Z

of ASLCE

!

ofl

Klo
Al

o
L Ct.

X
Al

3

o
=

X

.|

LIt At2]9)
CEESTR]
S

o Hzx 4882z

I

o
o
=

fLICE 40f
rﬂgl- :

=

H

E
=

2} 2501 Of

DaF(2=0{2A2| £20]) Bl/E= Daz(M2H 0= M| SLO) 27 HEHO|A

el 7Igez HE/JY A

e

.I

A
(i}

_i

tol, Of = XIX|sHof
LCt =5

Of M 124%0fOF

.
()

b

At

o

[0 Al O] R0 Z

Far=gni
= | Of Of

1 O

il
PN
o

x

m]

=

FLICF
=]}
=x

of

—
gt

o
o

—

]

bSEni%S|
NiE

=

F

7
)

K|
Azot Mg P, H2EY, 29 WS
102

X
~

T IO A EFEE O OF
C3Ax

™

1

NI xR, K|

JmE=2

=20 52 =0 oA o
Al

At=lH

1.

=

0<
e
ol
ojru

M_u
ol

LHr

—

—

2 AMElof
Of74 7 =l &=

(@)

|

==

Uitk ol e
(o]

At
2 0| %]

b

LIC}. ofmf St At
=

-

IR} CH

—

3

=
=

=

u}

e

A =H22 27 E0M

| Of OF

=
Al X

=

tof & Lt
]

Lict w2tA of

4H

o] HHES

VS
s

=

o
[=)

2
=

x=
o

o

LBt
s

M=z ZhFED B 0{0f

S =
Fotu|oz &

of =
oI 7t

o

X~ X}
=

b

.

()
—
=

s

e
[=)
==

=

o
-.nl-
agoel =

i

I

A
o
HH, A Ee Ate] SX] A0A] =t

Ch
x
S|

.
o

2

MOl
O =
At

-i

FAO7} KO =72 2EE[0JM= ¢ ELth

—
—

—

=]
=x

o10f =g

‘0] Of, 01zt
2| & ofof

—
A
H
=

o

|

2
A
e
=
s

C

of
L

X 2t
=

ol
=

3

Atz|et HFOoA %
O] UXte| &rof st 1

QI x}

=
=
O
—

o
[

4.

=2
=

—
—

L dzfo
- TTo—

1

A

|
om
<r
R
<
oK
M_u
ol

<r

OH
pd

K
o
M_u
ol

ol

10

pa
Jor

ol

LICE #H2|E

s

e
o
=

HOF

CHASE T

.
(¢]

2 oloF otH, 210 X|

L|C}.

I

o
o
=

MHR| X| %55 OfOF

1
Kiu
E|
jol’
Lo

s

od
Kr
Ho
X0

i

(]
Klo

2

0|54 U HY 7
10|

<
s

FLICE o]
|BHH BBt

CH3HOF &

2
L|C}, O2|3 A

g

ol
LHr

ujr

i
10
orl

t

N

I.

2
A

N
o

=2

I

e
(=)
=

210 S50 7|0

=7t M 75| 2


https://www.idt-2022.at/
http://www.idt-2022.at/
https://www.idt-2022.at/site/dieidt/leitbild

Rhg2t

—

—

1dt

FZ|O{ A= @t EL|Ct DaF/Daz&20f2e| A7

.
o
[

ySHOf oo SFEAHL A

CtEGol 2 HE|O{0F gL} =

oK

LICt G0 2R

s

o
o
=

tof OF

L|ct.

I

=

e
o

o | OfOf

}.

- MEH Xto|7F ey
M8 o] 40| oloff 37t E[o{ M=

X9

L|Ct.

s

o
o
=

g1 3 ZEX|7F @178 £| of OF

LICt of 710

of

2|5kA o

=T

2d CCS

=

£

=

.
o

=

oM, 7t W20M MZ2
S|

4

i Zorel =X

~

z

b

k=)
—

MK

fat =7 X4 7127t
o

o

I

=

e
[=)

—

ol Mo

Y

g7
—

—

P

2

LICE CIX &

A

=

of =
FAgLCL 22t tfE TEOM O[R0X|= nFE 2| ASH= RoHH,

we| wFAe| 22 ZH0| 7%/ 0fof

2| Al

o

ES
S|

m]

L
H|

ol
=

9.

by

Z:
4

U=ste Z0E O|fMMe ¢ gLt CIX| =37t 7|E9|

ojnu
ofl

sl Zofof

.|

CIX[E MAZ

=

—

__I.I.

[
e

Mug S5 Sof

gstet

ol

Jor

J/

M_H
ol

210

FLICH OEOZM

gfofof &
S OF gLt

=2
=

St
=1

te

of 715

3

o0

MAH B o

S0
oK

AR

Jjo

N
4
K

OF2tof =2|0f| A

=
L

Xl 23, Bt 8

]
K

<0

[u)

olJ

3l

£ 74t & 0|2 0{X{of

H

| 82 =257t Sl H|=7tY 7|2 8L W ERIZ 2| 20Xt SA[o
felel =0l Hoets =

oy

e =7h2| ubA| Of OF SHTH, et ef Atz
L|Ct.

o
[=)

3

=



